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Eqgs. H.15. H.16 into Eq. H.14 gives

2
Ly =—2C <’E 1555 — A2 |s|sij) (H.17)
Q = (Lij +20M;;)? (H.18a)
2 -
M;; = (/A\ 5[5y — A |§\§ij) (H.18b)
Find a () which best satisfies Eq. H.17 for all 7, j
00 My (L + 20M,) = 0, 2Q/OC? — SMyMi; > 0
90 i (Lij + ij) =0, Q/ = oM;j M5 >
We get
C= —m, stability problems: needs smoothing

€See Section 18.20.1, RANS vs. LES
» Numerical method: RANS vs. LES

RANS

LES

Domain

Time domain

Space discretization
Time discretization
Turbulence model

2D or 3D

steady or unsteady
2nd order upwind
1st order

> two-equations

always 3D

always unsteady
central differencing
2nd order (e.g. C-N)
Zero- or one-equation

»Start and end time averaging. tenqg — tsiart =~ 100H /(0) center

U1

W\/\/\/\/

start end



